Geometry H Name : e
Section 4.1 — 4.7 Quiz Review Date : v Period :

1. Is each of the following statements true or false? Explain your reasoning.
a. Every equilateral triangle is acute. True, eatn angle in 6N equILAAEITY A 1§ ©00°

b. A triangle can have two obtuse angles. ¢4\, g friangle Lan have ot mosk one obtuse ang le

c. A triangle can have two acute exterior angles. Fa\te, (Fa A \§ atue, al) ext. angic) wil Ve O USC

tEa & 0bUEE, onty one ext angle will e dcute
d. A triangle can have at most one right angle. True

2. INADEF , mZD =(12x-6)°, mZE =(5x+2)°, and mZF =6x° . Classify ADEF by its

angles.
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3. Atriangle has side lengths of 4 inches, 6 inches, and 8 inches. Classify the triangle by its side
lengths.

Scalere becaust alu side lengvhs are ditferent

4, Using the diagram below, please find the measure of all numbered angles. (NOTE: Diagram not

drawn to scale)\%b-w\ M m by VAT
/ PR .
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5. Using the diagram below, please find the measure of the following angles:

a. mZl =\40°

b. mZ2 =40° (by VAT) ;
c. mZ3 :bgo %
d. mz4 =16" (v VAT) 60°
e. mZS5-=\5°
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6. Using the diagram below, please solve for x and y. -l

AAbD:  X+y+q07180 Syskim: (x,g-;qo)

B -y
(y-10)° x+y =40 2444 *140

ABDG: §-10+aX-0 +40 >1%0

9 -x-y=-40
= \%0
(2%-20)° AR ax +y= 120
A DT c axtg:lao @ 3044290
MeoC=90° ' W
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7. Ina triangle, the measure of the second angle is four times the measure of the first angle. The
third angle is twenty-four less than the first angle. Find the measure of each angle and classify
the triangle by its angle measures and by its side lengths.

X+Ux+ X-ay =\&0 0
Fiskangie: 34

Yx

-34 =180 . |
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8. Given mZ1=112° and mZ£7 = 69°, find the measures of the other numbered angles.
mel=1a°
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med = 43’
me Y = 1377
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? 180113 me6 = W’ e =64
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9. In the diagram below, mZCAB =80° and mZCBA=60°. If BD 1 AC and AE 1 BC, find
mZACB and mZAFB.

MALH: HO°

MCAFD-\40°

10. One acute angle of a right triangle measures 37°. Find the measure of the other acute angle.
*+37:90

X=63°
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11. Use the diagrams below, please solve for x.

a. b'
x
150-33 = 147+ @ base angies
' =135
1339 62° as®  Aae\a) :
12 Xtb3 Snear P
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12. Using the diagram below, please find the measure of the exterior angle.
4x-7=x+10

Extangle: 4(34)-1
110° 3%-1:10

3r=\\1] —_—

13. if mLPST =(x+3y)°, mLRPS =45°, m/PRS =2y°, and mZPSR =5x°, find

X° (4x-T7)

m£PST.
Aves - 24+ 6%+ Ug =180 WnearPaw: 5x+X+3y =180
2 15R= 129 L3y =180 .
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Syskem: ((6x v 24136 )3 5 \o4 + by =406 5(15) +2y :‘_% / fs/x (xﬂyﬁ
i(h“ Jy=90 ) Ax-by 0 24 =60 R s T

3x=s 1% | [9:% ] T mepste 1543030) =|108°

14. Find all possibilities for m£1 in the diagram below. (NOTE: Diagram not drawn to scale)
ax38 - 10X+67 119

ar’1 38z 10X+ 8b
ARl X -4g§=0
S(x>-5x-av) =0
—=
%=-3. 2(a)+38 = Be WI_5x-24 =0
= 1§05k =| 134° (%-2)(x+3)=0

# 15. Given ALMN is isosceles, H\Tand mare the legs, LM =3x—2, LN =2x+ 1, and MN = 5x — 2.
L Find the value of x. ond find the perymeter
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16. Using the diagram below, find the value of x.

A 213K =H%X-\6 heck: Xz5:
w2 gxt16 =0 Ap: 26-3(5) = 10 @
ALz 25-16 =10

-5)(x-3) =0
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17. Given that AB = BC, find the value of x and classify AABC by its side lengths.
B
ax=b
‘ X:3 | b
— 2% i}
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18. Given the diagram below, please find the value of x.
0%-\§ *AE +bX-\§ tox-12 = \&0
v R bx&=60
\§X-5Y =\$0
bR=1%

|®

1§% =234 @
6x - 18)° -\g i

19. Given the information listed in the diagram below, mZBAE =12°, m/ZABC =52°, and
m/BCE =26°, please find the values of x and y.

smatler A: Y+5y+ X =180 (=]
by+x =\80 A
\ system: § by ex<1\50 by j:\go s
Big D63 t1aty+ Xtab =180 —\3(9* x:40) 7 -y-h=-90 E
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20. AFGH is equilateral with FG = x + 5, GH = 3x — 9, and FH = 2x — 2. Find the perimeter of AFGH .

t 2K -2
W a B P:1a+id t1d
: P= 3bunits
FE—+=n @
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la  21. Using the diagram below, please find perimeter of the triangle.
IxA% = X +29 P=3bt3bt20
%k 30 A%
(7x— 13)in. (x+ 29)in. by =2 P =98 mihes
bx =43
i3+ 5} in. [ *] l

ab

A triangle has the given vertices. Graph the triangle, find each side length in simplest radical form,

and classify the triangle by its side lengths. Determine if the triangle is a right triangle.
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Answer Key :

1) a. True, each angle in an equilateral triangle is always 60°

o

b. False, if a triangle had more than one obtuse angle, the interior angle sum would be greater than 180
¢. False, an angle would have to have two obtuse angles in order to have two acute exterior angles

d. True, if a triangle had more than one right angle, the interior angle sum would be greater than 180°
2) x =38, right triangle
3) Scalene triangle
4) m/1=104°, m/£2="176°, m/3=42°, m/Z4 =48°, mL5=49°
5) mZ1=140°, mZL2 =40° mAL3=65° mL4="75°, mL5=115°
6) x=30, y=60
7) Angles : 34°, 136°, 10°, Obtuse Scalene
8) mA1=112° m/2=68° mL3=43°, m£L4=137°, mL5=69°, m£6=111°, mL7 =69°
9) mLACB =40°, mLAFB =140°
10) 53°
11)a. x=171 b. x=106.5
12) 149°
13) x=15, y =30, mLPST =105°
14y m/1=14°, OR mZ£1=124°
15) x=3
16) x=5
17) x=3, Equilateral
18) x=13
19) x=72, y=18
20) P =36 units
21) P=98inches
22) Right Isosceles Triangle
23) Obtuse Scalene Triangle

24) Acute Isosceles Triangle
25) Equilateral Triangle



